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S A0S
M QIRAZAH(A0H)
Sl RIRZA Y BM=X AW (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
-A |3l 30,000 = 27 * 12& 9,720
-2 Al 3l 30,000 * 27% * 23| 1,620
OSLNHE=E AIEE 10,0008  12€ 120
O&FTEEZ XA 8,500,000 8,500
02 224 H| 900 900 0
OFQXXAHEH MEHAA X 2teldl
900,0008 * 1JH A 900
301 et M3 2,700 2,450 250
12 JIEtE &= 2,700 2,450 250
OF0 XX XH&EA WE a2 2,700,000 2,700
405 XHAFFI S HI 3,480 0 3,480
01 AL 2 E F S| 3,480 0 3,480
OFUXXNHMH 28 ¢ 3,480
- 1,600,000 = 10CH 1,600
-A Il AH 940,000 = 2CH 1,880
scEEEs A 125,680 125,680 0
301 et M= 125,680 125,680 0
0B SHE -0 -EHEESEM= 125,680 125,680 0
OO0l &% 121,680
-Jlgsd 300,000 * 26¥ * 12& 93,600
&0 3 300,000 * 26Y¥Y * 23| 15,600
-S| o E M £
20,0003 * 269Y * 23| x 12& 12,480
Ot A= 50,000& = 80Y = 13| 4,000
INE=3=12= R0 N 11,040 9,580 1,460
301 et A= 11,040 9,580 1,460
04 AIsHHMHAH XS 11,040 9,580 1,460
OXsgtgdia 29| 11,040
-0F Al H| 4,000& * 4 = 1JHOH = 3652 5,840
-29 & gty 100,000 = 1JHCH = 12&€ 1,200
-Xt &= Xl gl 4,000,000 4,000
ZZANE gxze 110,750 139,846 ~29,096
101 e1214| 6,970 6,866 104
04 JI2tHIZ22XNEES 6,970 6,866 104
OAIMXEH & S3A&E22 o2 6,970
-=0 69,760 x 18 » 90 6,279
-AISIEE J|a8se=2 6,279,000 * 11% 691
201 Yet2 | 102,600 101,800 800
01 AP 22| H| 7,320 5,720 1,600
O&FFD| X2 40,0008 = 504 = 128 2,400
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2AM: A0H
H: DIASAH(A0IH)
Sl RIRZA Y BM=X AW (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZZN&E NZ8 s%7¢
15,0003 = 108 « 43/ 600
NEASEEEANM XA 800 800 0
201 £B-2dH| 800 800 0
01 At 22l 800 800 0
OXI A EHE M 2 4 =
20,0003 = 10¥ = 43| 800
SHARZAGZFZ(A01H) 250,844 246,228 4,616
L2A2AMSEFE 250,844 246,228 4,616
DlEoizd ¥ ARZAY 94,344 94,228 116
101 14l 7,744 7,628 116
04 JI12ZtHZ22HEE = 7,744 7,628 116
OLZ2HEH & M= 2y 7,744
=0 69,7603 * 2% = 50 6,976
-ALR EE JI2RES 6,976,000& = 11% 768
201 Let24d] 6,600 6,600 0
02 =24l 6,600 6,600 0
OEXO0E HEBAAE(D-DAS) 2l
1,650,000& * 4&7| 6,600
401 AIEHIZL 2 CHEI 80,000 80,000 0
01 A& HI 65,000 65,000 0
OaxAZANE X& S =& 94|
5,000,000& 5,000
OL=Z¥ HM=&=¢ 10,000, 000& 10,000
OE2 S NE |XE=H 50,000,000& 50,000
03 Al S THHI 15,000 15,000 0
ON&ZEH gtz 5,000,000& 5,000
Oz & dta&Ed &4 dxZ 10,000,000 10,000
ZLXTHAMS 6,500 6,500 0
206 M= Hl 5,000 5,000 0
01 MHZ 4l 5,000 5,000 0
OZZLZHAY THEPY(ME S)
5,000,000& 5,000
401 Al HIZ 201 8] 1,500 1,500 0
03 AlE S THHI 1,500 1,500 0
OZXZ X LAY FHl gXz 1,500,000 1,500
O E O ol At 150,000 145,500 4,500
401 AIEHI L 20 150,000 137,750 12,250
01 A& HI 150,000 137,750 12,250
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S A0H
M SHARDAAEN(A0/D)
Sl ARBAYE (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Osdd Mg itz X 2 ==23H| AFY
50,000,000& 50,000
ozs2el 2H0I & otE &3 el
25,000,000& 25,000
O2atiel M2lotS ¥t M=Kl &8&F XA
o 75,000,000& 75,000
HHMSHAY (A0H) 101,882 98,937 2,945
Jl2dbl(A01H) 101,882 98,937 2,945
Jl2&l 101,882 98,937 2,945
201 LEt2 A Y| 53,372 50,977 2,395
01 At 22l Yl 41,920 39,790 2,130
O +g(2d=524|) 14,340,000& 14,340
Oget+=gH| 6,246,000 6,246
O= &l 5,230,000 5,230
OEAMNI L2 200,000 = 2CH = 12& 4,800
OH™EH A2E FH| 11,304
-HHEZelHy 7,920
- EY
440,000 * 2CH * 485 * 23] * 90% 6,336
S 440,000& = 2CH = 23] * 90% 1,584
- HHIT 2l E 200,000& * 7CH = 23] * 90% 2,520
Y CAGCER-N=L)
200,000& = 1CH * 3% * 90% 540
-FAX 120,000& = 1CH * 33 * 90% 324
02 332494l 11,452 11,187 265
O2Z222 % JM(fEH23) 9,955,000& 9,955
O#HHEH FXEE+Hl 1,497
~CHII s AFR 1]
1,300,000 = 1700 = 5% = 70% 774
-Tglf 4,000,000 * 9CH * 2% * 70% 504
-2 AHD| 15,000,000& * 10 * 2% * 70% 210
-FAX 600,000 * 1CH * 2% * 70% 9
202 (4] 32,130 37,800 N5,670
02 EAHNYI 32,130 37,800 N5,670
O ¥ bl 225,000& = 179 * 12&8 = 70% 32,130
203 ¥R =AY 10,880 10,160 720
01 J|22g9 P RE=XY| 6,600 6,600 0
OHE 550,000& « 12& 6,600
02 Rt R =AY 680 560 120
OZXSA A & 2 2AH| 40,000& * 174 680
04 ENSIHRF=EY| 3,600 3,000 600
ORNM2IIRF&Y| 300,000& « 12& 3,600
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2AM: A0H
FM: HH2AZH (L01H)
¢elr Jl2dHI(A01EH)
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 Cee
Ol & 24
405 XHoHF S HI 5,500
01 AL ESFH S 5,500
Oda2l =¥ 850,000& =« 1CH 850
OdZJl 2 100,000& * 404 400
=25 228 &g ¢ 300,000& = 204 600
OHICIRLEZAEH ¢ 3,200,000& = 1CH 3,200
OHXIg M2 450,000& = 1CH 450
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